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SECTION - A

Answer any five of the following. Each carries 2 marks. (5%x2=10)
O3RYTRTTR T a@@ﬁ@ﬁ QVBoR. T @%ﬁ 2 903N
1. a) Mention the components of Computer.
BORR, WO'S PUINTIY, SDRDA.
b) Define filing.
F,O0MT Y 33,83, V4.

p -

c) What do you mean by hygiene ?
3,TOF Y, DOTITER ?

d) What is meant by ventilation ?
FOLTCTT® DOTITETO ?

e) Define office layout.
Feied QTIT 9,809, B, V.

f) Give the meaning of modern office.
STOT TEeOOD LTI, Ved.

g) Mention any 4 management functions of modern office.
S0 3630030 CBRRTITTR 4 DBFTED FOODFNTIY &0 eDA.
SECTION -B

Answer any three of the following. Each carries 4 marks. (3x4=12)
BRPYEITTR R B3 Rer evSoa. I3 B3 4 oFND.

2. Briefly discuss the functions of modern office.
SR8 FLIO0D FIODFNFIY Fo3ToN WS,

3. Mention the factors in selecting office location.
3¢3e0 FTBT, Sleve) SRBTOF SoINTR), TSR
' @

P.T.O.
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4. Mention any 6 principles to consider in choosing office furniture.

geded QEBRETTTEINTSY, 0l BTN ToriedReIeTT cIRPYTITAR 6 IS,

eV DA,
5. What are the advantages and disadvantages of centralised filing ?

0D, €8 3 P OON'S SROBAUN B LTORORAONE CURTY) ?
6. Mention any 6 differences between data and information.

T2 0T B BR&ESOL TRONT CSRFYTITTR 6 [T ANTIY S94.

SECTION -C

Answer any three of the following. Each carries 10 marks. (3x10=30) ~,
CIRTTITITR AT BJ N eUZor. T3 B, 10 woznsh. '
7. Explain various principles of office layout.

FHe0 DT)RT AT ST TOR.
8. Explain types of office environment.

3E3¢0 TORTT T, TTNER), DF[OR.
9. Write a detailed note on classification of file.

FBEI JNCFTTET wr‘i\ T[T €333 £3 2TOWO.

10. Write a note on merits and demerits of office mechanisation.
TEIeD CIR08,eFTET LRBRO =) TTTOTLONT), LBOR.

11. Explain in detail various functions and duties of office manager.
Fe3ed aﬁa@m@aﬁ 2 FHODFTIEL TBD 6:9‘5-‘%7{@;’% QWOA. S

SECTION-D
Answer any one of the following. Each carries 8 marks. (1x8=8)
CIRYTRTTUR 2.0 T IT e300, B3 T3 8 wosnish.
12. a) Explain various types of organisation structure.
e 0eS0 FoPed dzsﬁo:b?% WWOX.
OR /eog@=

b) Discuss the functions of records mariagement.
T30S A[FBFHBOD TOCLFNTRY, w3 a,




